:dnyuonewJoyul [ea1uyd9l

d

~
=
2
o
®
=
<
o
2
5 .
Q.
)
o
=
=
=

o

ap°ullfeg-Ny 1110|100/

Ritp:/farbe i u-berlin.deiebdnebalonp.pdf /. psonly vector graphic VG, start output
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9 step series, sample and surround mean grey U40 is 0o dark, adjust U40 to U41 witks).50.

adjust visual equal difference for the intended Grey U41 between White W and Black N

adjusted spacing

<=rgb*out <=1

one experimental value

P0&=0,59
real gamma value
yeei= 0 [0,50] / og [eg] =1,333
inverse gamma value
yinv=l0g [e0d] / log [0,50] =0,750

surround Grey: U40

ieb90-1a, image 1, produce (p) equal visual difference between Black N - Whyj{g=0/,75

9 step series, sample and surround mean Grey is UL, all samples are lighter based sy @.59

adjust visual equal difference for four of 9 steps.

050.50]

[750.47 1]

adjusted spacing
0 <=r1gb*out <=

075, 0.70p05. pza, pas. pes
0

surround Grey: U41 0,62, 0,61
based on the value save 7 data above as text

P0&=0,59.

adjust visual equal difference for the intended Grey UA1 between White W and Black N

adjusted spacing
0 <=rgb*out <=1
one experimental value

Pos=0,
real gamma value:

=1og [0,50] / log [eg] =1,333
inverse gamma value
yiny= log [e0g] / log [0,50] =0,750

surround Grey: U40

ieb90-5a, image 1, produce (p) equal visual difference between Black N — Whyjg=0/,75

9 step series, sample and surround mean Grey is U1, all samples are lighter based @#@59.

adjust visual equal difference for four of 9 steps

(50,47 1]

adjusted spacing
0 <=rgb*ou <=1

075, 0.70pg5, paa, pas. pes

surround Grey: U41 0,62, 0,60
based on the value save 7 data above as text

P0g=0,59.

9 step series, sample and surround mean Grey is U41, all samples are lighter based @#@59.

adjust visual equal diference for two of 5 steps

adjusted spacing
<=rgb*ou <= 1

0,75, 0,70p04, pag
surround Grey: U41

based on the value

P0§=0,59.

ieb90-2a, image 2, produce (p) equal visual difference between two of fiveyates75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.
9 step series based on all visual adjustments used for output linearization
NE ,87 1,00
save 9 data below as text
0,047}
000 =012 =025 c3=037 G050 C5=0,62 05=0,75 Cr=087 1,00

adjust and proof threshold of
o e S the linearized outpu

restart with image 1

000 @012 =025 @=037

difference visible?

ieb90-4a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all ggy0775
9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.

adjust visual equal diflerence for two of 5 steps

adjusted spacing
0 <=rgb*out <=1

0,75, 0,70p04, pas
surround Grey: U41

based on the value
Pog=0,59.

ieb90-6a, image 2, produce (p) equal visual difference between two of fiveygtes75

9 step series, sample and surround mean Grey is U1, all samples are lighter based @#@59.
9 step series based on all visual adjustments used for output linearization

@=0,25 @=0,37 . X @=0,75
save 7 data above as text
save 9 data below as text

©2=0,25 ca=

adjust and proof threshold of

restart with image 1

difference visible?

ieb90-8a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all ggy=l?775

9 step series, sample and surround mean grey U40 s too dark, adjust U40 to U41 witig 50.

adjust visual equal difference for the Tntended Grey U41 between White W and Black N

 gotonextimage2 |
adjusted spacing
<=rgb%out <= 1
one experimental value:
Pog=0,59

real gamma value
wrel= Iog [0,50] / log [ee] =1,333
inverse gamma value:

vinv= log [eue] / log [0,50] =0,750

surround Grey: U40

ieb91-1a, image 1, produce (p) equal visual difference between Black N - Whjtg=@/75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @ 59.

adjust visual equal difference for four of 9 steps

(150,50
9o to next image 4

(1750471

adjusted spacing
0 <=rgb* gy <=

12750.50 ] 150,50

0.75, 070002, paa, pas, Pes
surround Grey: U41 062,060
based on the value

Pog=0,59.

save 7 data above as text

ieb91-3a, image 3, produce (p) equal visual difference between four of nineyg{eps,5
9 step series, sample and surround mean grey UA0 is 100 dark, adjust U40 to UAL witkd.50.

adjust visual equal difference for the Tntended Grey U41 between White W and Black N

Pos-IEERI
0 to next image 2
adjusted spacing
0 <=rgb*ou <= 1
one experimental value

Pos=0,
real gamma value:

wrel= Iog [0,50] / log [eg] =1,333
inverse gamma value:

vinv= log [eg] / log [0,50] =0,750

surround Grey: U40

ieb91-5a, image 1, produce (p) equal visual difference between Black N — Whjtg=0/75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @r@59.

adjust visual equal difference for four of 9 steps

(175047

adjusted spacing
0<=rgb*ou <=1

J120,50 - (50,50

0.75, 070002, pa, pas. pes

surround Grey: U41 0,62, 0,60
based on the value | save 7 data above as text |

P0g=0,59.

ieb91-7n

TUB-test chart ieb9; Adjacent and separated grey sgigs)

Output linearization an

thresholds for the 9 step equally spaced colour series

9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.

adjust visual equal difference for two of 5 steps

9o 10 next image 3
adjusted spacing
<=rgb¥out <= 1
0,75, 0,70p04, pas
surround Grey: U41
based on the value
P0s=0,59.

ieb91-2a, image 2, produce (p) equal visual difference between two of fiveygtes75

9 step series, sample and surround mean Grey is U41, all samples are lighter based @#@.59.

9 step series based on all visual adjustrients used for output inearization

000 @=012 =025 @037 a=050 &=062 =075 =087 1,00
save 7 data above as text
save 9 data below as text

(+0.04 1}

000 =012 =025 3=0,37 =050 c5=0,62 ¢=0,75 C;=0,87 1,00

. adjust and proof threshold of
O e e the linearized output

restart with image 1

difference visible?

ieb91-4a, image 4, produce (p) visual threshold (+0,04?) of 9 steps; all grE0775

9 step series, sample and surround mean Grey is U41, all samples are lighter based @@59.

adjust visual equal difference for two of 5 steps

= | [}
(2120401
adjusted spacing
0<=rgb*out <=1
0.75, 0.70p04, pag

surround Grey: U41
based on the value
Pog=0,

ieb91-6a, image 2, produce (p) equal visual difference between two of fiveystes75

9 step series, sample and surround mean Grey is U1, all samples are lighter based @@59.

9 step series based on all visual adjustrients used for output linearization

0,00 @=0,12 =025 =037 &=050 =062 &=0,75 ¢=0,87 1,00
save 9 data below as text

£+0.04 7I+0.04 ENIG G T G.04 TI-0

- | || |

000 =012 =025 c3=0,37 4=0,50 c5=0,62 c=0,75 ¢7=0,87 1,00

. adjust and proof threshold of
+0.08 |l i CHt) the linearized output

restart with image 1

difference visible?

ieb91-8a, image 4, produce (p) visual threshold (+0,04?) of 9 steps;

Black N — Re
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